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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 (a) 25 000 000   cao 1  

 (b) 0.6 < 65% < 

3

2

 1  

 (c) 20% 3 B1 for 50 seen M1 for

250

50their

× 100 

   or B1 for 0.8 or 80 seen  

M1 for 1 – their 0.8 or 100 – their 80 

 (d) (i) 30 1  

  (ii) 40 2 M1 for 360 – (90 + 150) implied by 120 seen 

2 (a) 1.5(0) × 10
2

   cao 1  

 (b) 100   cao 1  

 (c) 2 hours 15 minutes   cao 1  

 (d) 16(:) 25 (pm) or (0)425 pm 2 M1 for 2.5 (oe), 2hrs 30 min 

 (e) 145 ≤ d < 155 2 B1 for each value in correct place 

3 (a) (i) 36, 10 1  

  (ii) 29, 41, 13 any two  2 B1 for each  

  (iii) 36 1  

  (iv) 45, 15, 10 any two 2 B1 for each  

 (b) (i) 27 2 B1 for 36 + 29 + … + 13 seen   implied by 189 

  (ii) 29 2 M1 for attempting to order the numbers 

  (iii) 35   cao 1  

 (c) (i) 

7

2

  oe 1  

  (ii) 

7

3

  oe 1ft Their denominator from (c)(i) 
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4 (a) (i) 70   cao 1  

  (ii) 1.11(11…) 2 B1 for 100 ÷ 90, 10 ÷ 9, 1

9

1

 

 (b) (i) 15   cao 1  

  (ii) (1500 – 15) × 1.04 2 B1 for × 1.04, 1560, 15.60 

 (c) 561.92  3 M1 for 1544.40 – 950 – 10 (584.40)   oe 

M1 indep for ÷ 1.04 

5 (a) 

3

4−

  oe, –1.2 to –1.4 2 B1 for attempt at 

run

rise

 

 (b) (i) 3, 2, 6 3 B1 for each value 

  (ii) Correct continuous line  2ft Minimum length (0,3) to (6,0) 

B1 for plotting their 3 points 

 (c)    x = −2, y = 4 

 

2ft B1 for their x, B1 for their y from their 

intersections 

6 (a) (i) Correct construction  2 B1 for two lines or B1 for accurate arcs seen or 

B1 for one correct line with two arcs 

SC1 for AC = 6 and BC = 7 with arcs 

  (ii) 47° (45 – 49) 1ft Strict ft their (a)(i) 

  (iii) Correct construction 2ft Their (a)(i) B1 for accurate arcs no line 

or B1 for accurate line drawn no arcs 

or B1 for accurate line with arcs bisecting 

another angle 

  (iv) 4   (3.8 – 4.2) 1ft Strict ft their (iii) with intersection on opposite 

side of triangle 

  (v) Correct construction 2ft B1 for accurate arcs no line or 

B1 for accurate  line drawn no arcs or 

B1 for accurate line with arcs, bisecting AB or AC 

  (vi) Correct region shaded  1ft ft is for boundaries of correct perpendicular 

bisector of their BC and correct angle bisector 

of their ABC, with or without arcs  

 (b) (i) Correct scale drawing of PQ 2 B1 for accurate angle 40
o

, B1 for PQ 8cm 

  (ii) Correct scale drawing of their QR 2 B1 for accurate angle 160
o

, B1 for QR 6cm 

  (iii) 35 to 37 1ft Measure × 5   ± 1km 

  (iv) 264 to 268 1ft  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

4

3

 1  

2 24 or 24 out of 30 2 M1 for 

5

4

 × 30 

3 1.8 2 M1 for 1.4 ÷ 7  

or SC1 for answer 180 

4 16 2 B1 for 1cm to 0.5km   oe  

or 800 000 (cm) or figs 16 

5 (a) 25 1  

 (b) Green   cao 1  

6 7.5(0)   cao 2 M1 for

6.4

75.258

 

7 (a) 120 1  

 (b) 

25

9

  cao 2 B1 for

100

36

or

50

18

 

8 (a) 7853 to 7855  

 or 7850 or 7860   www 

2 M1 for π × 50
2

 

 (b) 0.7853 to 0.7855 or 0.785 or 0.786 1ft Their (a) ÷ 10 000 evaluated 

9 (a) 15 1  

 (b) 2 (pm), 6 (pm)  1  

 (c) 15 1 Allow −15 

10 (a) Rectangle or rhombus 1 Either one or both given 

 (b) Isosceles (triangle) 1  

 (c) 5   cao 1  
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17 (a) 7.42 or 7.416...   cao 3 M2 for ( )
22

38 − or complete alternate method 

   or M1 for x
2

 + 3
2

 = 8
2

 or better 

 (b) 67.97 to 68(.0)   cao 2 M1 for cos (y) =

8

3

  oe 

18 (a) 75 2 M1 for 

100

35500 ××

  oe 

   or SC1 for answer of 575 

 (b) 3.81(25) 4 M2 for 500 × 1.05 × 1.05 × 1.05 

or M1 for 500 × 1.05 × 1.05 

A1 for 578.81(25) or 78.81(25) seen 

and A1ft for value of 500(1.05)
3 

– 500 – their (a)  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 −2(°C) 1  

2 95.52 

 

1  

3 35 2 M1 for 4 × 8 + 3 or 4 × 

4

3

8
 

   

or 4 ×

2

1

8 + 1 or

15

525

or

15

510

+ 1 

SC1 for answer 34 

 
4 

 

8

9

< 115% <

6

1

1 < 1.2 

 
2 

 
M1 for all decimals (or %), allow 1 error or  

B1 for 3 in correct order 

eg 115% <

8

9

<

6

1

1 < 1.2 

SC1 for reverse order 

    

5 7.5 2 M1 for 12 × 5 ÷ (1 + 5 + 2)   oe 

6 4.58   cao 2 B1 for 4.6(0) or 4.57 or 4.579 or 4.578 or 4.5789 

or 4.5788… 

SC1 for 4.58
3

 only 

7 (a) 7.34 × 10
8

 1  

 (b) 5.87 × 10
–4

 1  

8 399 500 (≤ P <) 400 500 1, 1 SC1 for both correct reverse order 

9 (a) 6.25   cao 1  

 (b) 0.16   cao 1  

10 (a) (x =) 20 1  

 (b) (y =) 65 2 B1 for ABD = 65° or ADB = 95° 

11 (a) x + 2x + 2x + 75 = 360  1 Allow 4x + x + 75 = 360 or 5x + 75 = 360  

or 5x = 285 

 (b)  (x =) 57   cao 2 M1 correct first step after 5x + 75 = 360 

ie 5x = 360 − 75 or x + 15 = 72 

If zero SC1 for correct solution to their linear 

equation seen in part (a) or in part (b) if (a) is 

blank 
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12 2

12

1

   cao   with correct working 3 M1 (1+)

12

3

12

4

12

6

++  oe   A1  (1)

12

13

 or 

12

25

oe 

13 (x =) 3   (y =) –1   www 3 M1 for consistent multiply and consistent add/ 

subtract as appropriate 

Allow computational but not method errors 

Likely 5x + 4x = 17 + 10 

Other methods allowed 

A1 for correct x or y 

14 (a) 13 1  

 

 (Red)

60

19

  (Yellow)

60

13their

  oe 

1ft All needed for the mark 

isw cancelling or decimals after correct fractions 

seen 

 

 (Blue)

60

28

  oe 

  

 (b) Blue 1ft Strict ft their highest frequency 

15 11.3 3 M2 22 × 1.852 × 1000/3600   oe 

or M1 22 × figs 1852 or 22 × 1000/3600 

16 (a) Any multiple of 56 1  

 (b) (i) 3, 9, 27 (in any order) 2 B1 for 2 correct 

  (ii) 3   cao 1  

17 (a) y = −2 or y + 2 = 0 1  

 (b) (i) Ruled line parallel to B through 

(0, 2) 

1 Must at least go through (−1, –1)  

  (ii) (y =) 3x + 2   cao   final answer 2 B1 3x + j   j ≠ –1 or 2   or   kx + 2   k ≠ 3    

SC1 for 3x + 2 then spoiled by the final answer 

18 (a) 30 1  

 (b) (i) 12 2ft M1 for 360 ÷ their (a) 

(Any answer for (a) for method) 

Only ft for A1 if 360 ÷ their (a) is an integer 

Other methods allowed if complete 

  (ii) 150   cao 1  

19 (a) (i) (1, 5) 1  

  (ii) D at (5, 2) 1  

  (iii) Lines x = 3 and y = 3.5 only 

drawn 

1 Dep on (a)(ii) Extra line(s) zero 

Lines should at least meet the sides 

 (b) Kite   Trapezium 1, 1 1 mark for each 

20 (a) Petrol   cao 1  

 (b) 72 2 M1 for 360 × 12 ÷ 60 

 

(c) 

10

1

 2 B1

60

6

or

30

3

or

20

2

or 0.1 or 10% 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 25 1  

2 (a) 105 002 1  

 (b) 110 000 1ft  

3 8x + 5y   cao 2 B1 8x or 5y in final answer 

4 (a) 7 × (6 − 3) + 5 1  

 (b) 8 − 6 × (4 − 1) 1  

5 

21

11

, 52.4%, 0.525,

211

111

 

2 M1 for conversion to decimals or %, allow 1 error 

0.5238…, 0.524, 0.525, 0.526  

or B1 for 3 in correct order 

SC1 correct but reverse order 

6 8 2 M1 for 240 or 0.3 seen or figs 24 ÷ figs 3  

7 112 2 M1 for 240 ÷ (7 + 8) × 7 

8 (a) 211   cao 1  

 (b) 216   cao 1  

9 ($)138 2 M1 for 120 × 1.15   oe 

SC1 answer 18 

10 (x =) −3   (y =) 5 2 M1 for correctly eliminating one variable 

11 (x =) 3.5  2 M1 for 2x − 3 = 2 × 2 or better 

2

2x

= 2 +

2

3

 

12 (a) 1.28 × 10
5

 1  

 (b) 128 500 1  

13 882 2 M1 800 × 1.05 × 1.05 

14 5h(g
2

 + 2j) 2 B1 for 5(g
2

h + 2hj) or for h(5g
2

 + 10j) 

15 298.79   cao 2 M1 for 500 ÷ 1.6734 

16 20x
9

   cao 2 B1 for kx
9

or 20x
k

 

17 130 2 M1 for 26 × 500 000 or 1 cm represents 5 km   oe 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 25 1  

2 (a) 105 002 1  

 (b) 110 000 1ft  

3 8x + 5y   cao 2 B1 8x or 5y in final answer 

4 (a) 7 × (6 − 3) + 5 1  

 (b) 8 − 6 × (4 − 1) 1  

5 

21

11

, 52.4%, 0.525,

211

111

 

2 M1 for conversion to decimals or %, allow 1 error 

0.5238…, 0.524, 0.525, 0.526  

or B1 for 3 in correct order 

SC1 correct but reverse order 

6 8 2 M1 for 240 or 0.3 seen or figs 24 ÷ figs 3  

7 112 2 M1 for 240 ÷ (7 + 8) × 7 

8 (a) 211   cao 1  

 (b) 216   cao 1  

9 ($)138 2 M1 for 120 × 1.15   oe 

SC1 answer 18 

10 (x =) −3   (y =) 5 2 M1 for correctly eliminating one variable 

11 (x =) 3.5  2 M1 for 2x − 3 = 2 × 2 or better 

2

2x

= 2 +

2

3

 

12 (a) 1.28 × 10
5

 1  

 (b) 128 500 1  

13 882 2 M1 800 × 1.05 × 1.05 

14 5h(g
2

 + 2j) 2 B1 for 5(g
2

h + 2hj) or for h(5g
2

 + 10j) 

15 298.79   cao 2 M1 for 500 ÷ 1.6734 

16 20x
9

   cao 2 B1 for kx
9

or 20x
k

 

17 130 2 M1 for 26 × 500 000 or 1 cm represents 5 km   oe 

 


